4

[erom

BARRAS GRAFITADAS
WEAR PLATE WITH GRAPHITE

N
20" (10 eseTeleteld % mt &ﬂ:::::::::::# ]
AO8.LPC| "= ’ |
: '
|
30:“| @::@ 35-160‘“&%303%: : .
i i | |
gisisisdadajsdadaieded |
T3essssiess ssssissiiie
%2%6%0%0%0/2%s%¢% %% —
=
( Fixacao L T w cobico ) (Fixacao L T w cODIGO )
M6 x 10 305 4 20 A08.LPC020043 M8 x 15 1005 12 40 A08.LPC040121
30 A08.LPC030043 605 50 A08.LPC050126
5 25 A08.LPC025053 1005 A08.LPC050121
40 A08.LPC040053 605 60 A08.LPC060126
605 A08.LPC040056 1005 A08.LPC060121
305 6 30 A08.LPC030063 605 80 A08.LPC080126
605 A08.LPC030066 1005 A08.LPC080121
305 40 A08.LPC040063 M10 x 20 605 16 40 A08.LPC040166
605 A08.LPC040066 1005 A08.LPC040161
M8 x 15 305 8 30 A08.LPC030083 605 60 A08.LPC060166
605 A08.LPC030086 1005 A08.LPC060161
305 40 A08.LPC040083 605 80 A08.LPC080166
605 A08.LPC040086 1005 A08.LPC080161
1005 A08.LPC040081 605 100 A08.LPC100166
305 10 30 A08.LPC030103 1005 A08.LPC100161
605 A08.LPC030106 605 20 50 A08.LPC050206
1005 A08.LPC030101 1005 A08.LPC050201
305 35 A08.LPC035103 605 80 A08.LPC080206
605 A08.LPC035106 1005 A08.LPC080201
1005 A08.LPC035101 605 100 A08.LPC100206
305 40 A08.LPC040103 1005 A08.LPC100201
605 A08.LPC040106 605 125 A08.LPC125206
1005 A08.LPC040101 1005 A08.LPC125201
305 50 A08.LPC050103 605 160 A08.LPC160206
605 A08.LPC050106 1005 A08.LPC160201
1005 A08.LPC050101 605 25 80 A08.LPC080256
305 80 A08.LPC080103 1005 A08.LPC080251
605 A08.LPC080106 605 100 A08.LPC100256
1005 A08.LPC080101 1005 A08.LPC100251
305 12 30 A08.LPC030123 605 125 A08.LPC125256
605 A08.LPC030126 1005 A08.LPC125251
1005 A08.LPC030121 605 160 A08.LPC160256
\_ 605 40 A08.LPC040126 J \_ 1005 A08.LPC160251 J

Obs: Para pedido defina CODIGO.

\\

Medidas em milimetros

m o ldas

—

Z01.A08LPC.D



